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Exams: Higher Studies (Lipids Chemistry) 1™ term (2022/2023)

Please, answer the following.......uumerimrimamems e (One point for each)
1-An example of a hydroxy fatty acid is (A) Ricinoleic acid (B) Crotonic acid (C) Butyric acid (D) Oleic acid
2-An example of a saturated fatty acid is (A) Palmitic acid (B) Oleic acid (C) Linoleic acid (D} Erucic acid

3-If the fatty acid is esterified with an alcohol of high molecular weight instead of glycerol, the resuiting
compound is (A} Lipositol (B) Plasmalogen (C) Wax (D) Cephalin

4-A fatty acid which is nat synthesized in the body and has to be supplied in the diet is {A) Paimitic acid
(B) Lauric acid (..} Linolenic acid (D) Palmitoleic acid

S-Essential fatt; scid: (A) Linoleic acid (B) Linolenic acid (C) Arachidonic acid (D) All these
6-The number ¢ doublc Londs in arachidonic acid is (A) 1 (B) 2 (C} 4 (D) 6
7-In humans, a <i2tary essential fatty acid is (A) Palmitic acid (B} Stearic acid {C) Oleic acid (D) Linoleic acid

8-A lipid contaiiing alcotnlic amine residue is (A) Phosphatidic acid (B) Ganglioside {C) Glucocerebroside
(D) Sphingomyeiin

9-Cephalin concists of (A) Glycerol, fatty acids, phosphoric acid and choline (B) Glycerol, fatty acids,
phosphoric aci. .nd ett:=nolamine (C) Glycerol, fatty acids, phosphoric acid and inositol (D) Glycerol, fatty
acids, phosphor = acid a::«! serine

10-The importz: ‘e of phospholipids as constituent of cell membrane is because they possess (A) Fatty
acids (B) Both ;. ‘ar and :onpoiar groups (C) Glycerol (D) Phosphoric acid

11-In neutral :'ts, the unsaponificable matter includes (A) Hydrocarbons (B} Triacylglycerol (C)
Phospholipids (i Cholsecterol

12-Higher alco:. " pres. .- waxes is (A) Benzyl (B) Methyl (C) Ethyl (D) Cetyl

13-Phospholipi  ting: - :ifactantis (A) Cephalin (B) Phosphatidyl inositol (C} Lecithin (D) Phosphatidyi
serine
15-Unpleasant  'ours ! wiste in a fat (rancidity) can be delayed or prevented by the addition of (A)

Lead (B) Copp. ) Toc  :rcl (D) Ergosterol

16-'Drying oil’, “lize  ..laneously by atmospheric oxygen at ordinary temperature and forms a hard
water proof ma: -ialis ! * Coconut oil {B) Peanut oil {C) Rape seed oil (D) Linseed oil

17-Deterioratic. of food irancidity) is due to presence of (A) Cholesterol (B) Vitamin E (C) Peroxidation of
lipids (D) Phei: '~ compeunds

18-Molecular : sula o lesterolis (A) Cy7HasOH (B) CaoH470H (C) Cy5H470H (D) C23H410H

19-The cholest. 1 o .+ s (A) Benzene derivative (B) Quinoline derivative (C) Steroid (D) Straight
chain acid

20-Salkowski i. . .s per.....ed to detect (A) Glycerol (B) Cholesterol (C) Fatty acids (D) Vitamin D
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21-Palmitic, oleic or stearic acid ester of cholesterol used in manufacture of ¢ wmetic * :ams is (A) Elaidic
oil (B) Lanoline (C) Spermaceti (D) Chaulmoogric oil '

22-Dietary fats after absorption appear in the circulation as (A) HDL {B) VLDL [Z) LD! '™ Chylomicron

binding protein (C) Combined with B -lipoprotein (D) In unbound free salts

24-long chain fatty acids are first activated to acetyl-CoA in (A) Cytosol (8} “licrosc - s {C) Nucleus (D)
Mitochondria

25-The enzyme acyl-CoA synthase catalyses the conversion of a fatty acid of an active fatty acid in the
presence of (A) AMP (B) ADP (C) ATP (D) GTP

26-The enzymes of B-oxidation are found in (A) Mitochondria (B) Cytosol (C) Golgi apparatus {D) Nucleus

27-Atherosclerosis and coronary heart diseases are associated with the diet: {A) High in total fat and
saturated fat (B) Low in protein (C) High in protein (D) High in carbohydrate

29-The polysaccharide insulin is (A) Filtered at the glomerulus but neither secreted nor reabsorbed by the
tubule (B) Filtered at the glomerulus and secreted by the tubule (C) Filtered at »~ glomerulus and
reabsorbed by the tubule (D) Filtered at the glomerulus, secreted and reabsorbed by the tubule

30-Triglycerides are (A} Heavier than water (B) Major constituents of membrancs [7) Non-polar (D)
Hydrophilic

31-Number of carbon atoms in cholesterol is (A) 17 (B) 19 (C) 27 (D) 30

32The major storage form of lipids is (A) Esterified cholesterol (B) Glycerophospholipids (C) Triglycerides
(D) Sphingolipids

33-The nitrogenous base in lecithin is (A) Ethanolamine (B) Choline (C) Serine (D) Betanz

34-All the following are omega-6-fatty acids except (A) Linoleic acid (B) a-Linolenic acid (C) y-Linolenic acid
(D) Arachidonic acid

35-All the following have 18 carbon atoms except (A) Linoleic acid (B) Linolenic acid (C) Arachidonic acid
(D) Stearic acid

36-A 20-carbon fatty acid among the following is (A) Linoleic acid (B) a -Linolenic acid (C) B -Linolenic acid
(D} Arachidonic acid

37-B-Oxidation of fatty acids requires all the following coenzymes except (A) CoA (B} FAD (C) NAD (D)
NADP

38-Which of the following can be oxidized by B-oxidation pathway? (A) Saturated fatty acids (B)
Monosaturated fatty acids (C) Polyunsaturated fatty acids (D) All of these

39-An enzyme required for the synthesis of ketone bodies as well as cholesterol is (A) Acetyl CoA
carboxylase (B) HMG CoA synthetase (C) HMG CoA reductase {D) HMG CoA lyase”
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sized in (A) Adipose tissue (B) Liver (C) Muscles (D) Brain

nents about ketone bodies are true except (A) Their synthesis increases in

{8) Thee re synthesized in mitchondria (C) They can deplete the alkali reserve (D) They
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:n be synthesized in the human body if precurors are available? (A) Oleic acid
ridonic acid (D) All of these

- oxidized by Boxidation except (A) Palmitic acid (B) Phytanic acid (C) Linoleic
11 odd number of carbon atoms

‘om lecithin by removal of (A) Fatty acid from position 1 (B) Fatty acid from
:line (D) Choline

udy mainly in the form of (A) Phospholipids (B) Glycolipids (C) Triglycerides

2sent in {A) Liver (B) Brain (C) Muscles (D) Adipose tissue

- glycerol-3- phosphate by (A) Thiokinase (B) Triokinase (C) Glycerol kinase (D)

<ceurs mainly in (A) Liver (B) Brain (C) Muscles (D} Adipose tissue

"5 triacylglycerols into (A) 2, 3-Diacylglycerol (B) 1-Monoacylglycerol (€) 2-
. acylgiycero

“wation (A) One carbon atom is removed from the carboxyl end of the fatty
- removed from the methyl end of the fatty acid (C) Two carbon atoms are
“ of the fatty acid (D) Two carbon atoms are removed from the methyl end

in complete oxidation of palmitic acid is (A) 129 ATP equivalents (B) 131 ATP
valents (D) 148 ATP equivalents

/ on complete oxidation of a 17-carbon fatty acid is (A) Equal to the energy
» fatty acid (B) Equal to the energy generation from an 18-carbon fatty acid
«wration from a 16-carbon fatty acid (D) In between the energy generation
ind an 18-carbon fatty acid

s cotiislete oxidation of linoleic acid is (A) 148 ATP equivalents (B) 146 ATP
salents (D) 142 ATP equivalents

all of the following except (A) Egg (B) Fish (C) Milk (D) Pulses
-t nighest cholesterol content? (A) Meat (B) Fish (C) Butter (D} Milk

*s L highest cholesterol content? (A) Egg yolk (B) Egg white (C) Meat (D)
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58- The following contains the least cholesterol: (A) Milk (B) Meat (C) Butter (D) Cheesc

59- The cyclic ring present in all the steroids: (A) Cyclopentano perhydrophenanthrene (B) Nitropentano
(C) both (A) and (B} (D) None of these

60- Hydrolysis of fats by alkali is called (A) Saponification number (B) Saponificatizn 7' Both (A) and (B)
(D) None of these

61- The number of milliliters of 0.1 N KOH required to neutralize the insoluble fatty acids from 5 gms of
fat is called (A) Acid number (B} Acetyl number (C) Halogenation (D) Polenske number

62- Lecithin contains a nitrogenous base named as {(A) Ethanolamine (B) Choline (C) Inositol (D) All of these
63- Lecithins contain an unsaturated fatty acid at position: (A) a (B) a and f (C) B {P) Nore of these

64- Lecithins are soluble in ordinary solvents except (A) Benzene (B) Ethyl alcohol (C) Methyl alcohol (D)
Acetone

65- Lecithins combine with protein to form (A) Phosphoprotein (B) Mucoprotein (C) Lipoprotein (D)
Glycoprotein

66- The prostaglandins are synthesized from (A) Arachidonic acid (B) Oleic acid (C) Linoleic acid (D)
Linolenic acid

67- The lodine number of essential fatty acids of vegetable oils: (A) High (B) Very high (C} Very low (D) Low
68- Waxes contain higher alcohols named as (A) Methyl (B) Ethyl (C) Phytyl (D) Cetyl
69- Fatty acids are oxidized by (A) a -oxidation (B) B -oxidation {C) w -oxidation (D) All of these

70- Long chain fatty acids are first activated to acyl CoA in the (A} Cytosol (B) Mitochodria (C) Ribosomes
(D) Microsome

71- Fatty acid synthesis takes place in the presence of the coenzyme: (A) NAD+ (B) Reduced NAD (C}
NADP+ (D) Reduced NADP

72- Fatty acids are activated to acyl CoA by the enzyme thiokinase: (A) NAD+ (B) NADP+ (C) CoA (D) FAD+

73- Saponification number is (A) mg of KOH required to saponify one gm of fat or oil (B) mg of KOH
required to neutralize free fatty acids of one gms of fat (C) mg of KOH required to neutralize the acetic
acid obtained by saponification of one gm of fat after it has been acetylated (D) None of these

74- Lipids have the following properties: (A) Insoluble in water and soluble in fat solvent (B) High energy
content (C) Structural component of cell membrane (D) All of these

75- Saponification: (A) Hydrolysis of fats by alkali (B) Hydrolysis of glycerol by liposes (C) Esterification (D)
Reduction




